NCERT Solutions for Class 11 Economics Statistics for
Economics Chapter 8 Index Numbers
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wg ad 1980 W Hivw =¥ 2005 #t Hiwa
w95y 100 200
E S 20 L 25
A 1w fastedt 15 20
A fFa 30 40
fafay 35 65
IR St fHalg AR garahics 1 fmtor
L5 wf 1980 % | = 2005 ¥ | wiitw (w) | Wrww arpua | WiRw arum WR
@ (PO) | @ (PD) g L LR
P C
@ 100 200 75 | 200.00 15000.00
Fug 20 25 10 125.00 1250.00
A o fawet 15 20 5 133.33 666.65
whA fwua 30 40 6 133.33 799.98
fafay 35 65 4 185.71 742.84
Fa TW =100 TWR = 18459.47
2005 & fad CPIL=XIWR/IW = 18459.47 / 100184.59
R.15. fFreiferRaa ARvft o sarigde afey wd sraeht feueft #ifdm |
afreifirer 3wmae o (AR 1993-94 )
Faimy % o 1996-97 2003-2004
QW gahiH 100 130.8 189.0
G TE IoaT 10.73 118.2 146.9
fafmior 79.58 133.6 196.6
famm I 10.69 122.0 172.6

IR A GAhih AENNE &R Bt Fot et dgIast P 320 8T 8 | I8 J4 Menfies Rt &
JeIchich! o1 ¥t g2 RET 2 | I 39 Wt <91 XaT 2 fop fafemior o1 =g garepies | erftrenem foev 2 |
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_ 120W1+135W2
125 = 00

12500 = 120 W1 +135 W2 ()
7 gl B g FH WW, = 66.66% 3 W, = 33.33%.
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wny vard UG e farar | fafaw
o W = 35% 10% 20% 15% 20%
2004 # FiHa (¥ ) 1500 250 750 300 400
1995 # Hid (T9d o) 1400 200 500 200 250

1995 Pt A H 2004 # fHalg TaHiP HT A1 T BT?

IR IRAR soie A gRT S fFaTe arTa gaesic @1 femor:

TE WS | WR (%) | #ww 1995 | @A A AR | AR A

w (P0) 2004 L (WR)

R=p %100

(P1) 0 :
LG |11 35 1400 1500 107.14 3749.9
T 10 200 250 125 1250
HIS! 20 500 750 150 3000
& 15 200 300 150 2250
fafay 20 250 400 160 3200

Siteq fafe @ g9i® 2004 F7
CPI = TWR/IW
= 13449.9 /100
= 134.499
3M: 1995 ®T qE1 H 2004 F 34.499% T YE IE T B

R.20. A AT TF A TRIR & (R 378) 3fvep o, T 7 A iR 3 wdteers @
APRET F | Pl ¥ 317 IR ISP TRAR P {6 TRE F RUIfET Bl 82

IR 3 URAR & & Bt Aeg I Mg TR B R 99 10+ IRIR w1 IRAR Foie fafer
CPI ST I |

W = 4r
e AT R = %xwﬂ for each item
CPI = ZWR/IW
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R.21. frferfas sifrg Ry e -

ud afreifvs siftret g i yritfs feredt siftren @ ot g
& CPI waaritarl & CPI (1986-87 = 100) quwiE
(1982 = 100) CPI (1984-85 = 100) (1993-94
= 100)
1995-96 313 257 234 121.6
1996-97 342 283 256 127.2
1997-98 366 302 264 132.8
1998-99 414 337 293 140.7
1999-00 428 352 306 145.3
2000-01 414 352 306 155.7
2001-02 463 390 309 161.3
2002-03 482 405 319 166.8
2003-04 500 420 331 175.9
TRI: Mfieh HAaToT, RS TRPR, 2004-05
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